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In 2012 the number of golfers in a club
is 450.

In 2014 the number of golfers was
520.

Work out the percentage increase.

CorbettmoOtths

Not drawn E
to scale
B 16cm 17cm
“/ N\
A 5cm ¢ D F

Triangles ABC and DEF are similar.
AB =4cm AC =5cm
DE =16cm EF =17cm.

Work out the length of DF.

Michael organises his books into
groups of 36. He then organises them
into groups of 30.

What is the smallest possible number
of books that Michael has.

Calculate the volume of the sphere.
Give your answer to 1 decimal place.
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